Nevada Division of Health Care Financing and Policy Nursing Facility Rates – January 2012

TABLE OF CONTENTS

In State Free Standing NF Rates Schedule	1
Out of State (OOS) Nursing Facility July 1 Rates	2
July 1 Consolidation	3
JCase Mix Worksheet	4

In-State Nursing Facility Name	NF Standard Per Diem	Equivalent Daily Rate*	Quarterly Supplemental Payment	NF Ventilator Dependent	Pediatric Specialty Care I	Pediatric Specialty Care II
CARE MERIDIAN	\$127.77	N/A	N/A	\$519.02	635.00	695.00
CARSON NURSING AND REHABILITATION CENTER	\$113.36	\$193.35	\$191,891.23	\$506.11	0.00	0.00
COLLEGE PARK REHABILITATION CENTER	\$126.17	\$181.36	\$139,739.99	\$513.57	0.00	0.00
DELMAR GARDENS OF GREEN VALLEY	\$112.89	\$181.06	\$768,150.23	\$514.99	0.00	0.00
DESERT LANE CARE CENTER	\$118.12	\$194.70	\$717,398.49	\$508.92	0.00	0.00
EL JEN MEDICAL HOSPITAL	\$111.16	\$180.20	\$554,396.23	\$510.16	0.00	0.00
EVERGREEN AT PAHRUMP HEALTH & REHAB	\$114.72	\$186.93	\$254,422.29	\$517.01	0.00	0.00
EVERGREEN GARDNERVILLE HEALTH AND REHAB	\$115.87	\$181.91	\$129,245.18	\$520.15	0.00	0.00
EVERGREEN MOUNTAINVIEW CARSON CITY	\$107.27	\$190.81	\$1,020,307.05	\$509.76	0.00	0.00
GAYE HAVEN	\$98.26	\$188.31	\$134,535.77	\$505.22	0.00	0.00
HEARTHSTONE OF NORTHERN NEVADA	\$117.64	\$183.53	\$408,213.12	\$512.42	0.00	0.00
HENDERSON HEALTHCARE CENTER	\$115.97	\$186.91	\$1,065,449.58	\$512.98	0.00	0.00
HIGHLAND MANOR ELKO	\$112.15	\$175.81	\$337,849.04	\$517.41	0.00	0.00
HIGHLAND MANOR MESQUITE	\$108.91	\$194.79	\$259,950.16	\$516.60	0.00	0.00
HIGHLAND MANOR FALLON	\$120.78	\$192.48	\$342,220.81	\$519.02	0.00	0.00
LAS VEGAS HEALTHCARE & REHAB CENTER	\$119.73	\$198.04	\$276,339.99	\$506.81	0.00	0.00
LIFE CARE CENTER OF LAS VEGAS	\$117.55	\$191.37	\$864,222.68	\$514.68	0.00	0.00
LIFE CARE CENTER OF PARADISE VALLEY	\$114.32	\$165.05	\$84,563.54	\$516.20	0.00	0.00
LIFE CARE CENTER OF RENO	\$120.43	\$179.89	\$234,627.48	\$514.13	0.00	0.00
LKM - ROSEWOOD REHABILITATION	\$118.28	\$194.86	\$176,516.63	\$506.94	0.00	0.00
MANOR CARE HEALTH SERVICES (RENO)	\$116.33	\$181.98	\$465,292.36	\$513.38	0.00	0.00
MANOR CARE WINGFIELD HILLS	\$124.64	\$183.68	\$173,408.81	\$521.03	0.00	0.00
MANOR HEALTH CARE CENTER (LAS VEGAS)	\$119.05	\$196.10	\$865,117.57	\$516.60	0.00	0.00
MARQUIS CARE AT CENTENNIAL HILLS	\$121.87	\$183.42	\$182,715.41	\$521.43	0.00	0.00
MISSION PINES NURSING & REHAB	\$119.85	\$204.20	\$1,161,970.65	\$513.78	0.00	0.00
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	\$108.07	\$185.18	\$482,628.62	\$507.71	0.00	0.00
NORTH LAS VEGAS CARE CENTER	\$112.83	\$187.91	\$919,859.22	\$508.64	0.00	0.00
ORMSBY POST ACUTE REHAB	\$116.80	\$186.23	\$267,259.19	\$517.01	0.00	0.00
REGENT CARE CENTER OF RENO	\$118.77	\$194.39	\$628,414.65	\$518.92	0.00	0.00
RENOWN SKILLED NURSING	\$113.66	\$189.80	\$519,999.65	\$508.15	0.00	0.00
SILVER HILLS HEALTH CARE CENTER	\$116.64	\$188.96	\$299,156.21	\$516.37	0.00	0.00
SILVER RIDGE HEALTH CARE CENTER	\$122.02	\$197.21	\$537,751.05	\$517.01	0.00	0.00
ST. JOSEPH HEALTH CARE CENTER	\$124.02	\$194.04	\$410,793.54	\$507.34	0.00	0.00
THE HEIGHTS OF SUMMERLIN	\$117.98	\$193.27	\$669,202.47	\$519.02	0.00	0.00
THE PLAZA REGENCY AT SUN MOUNTAIN	\$127.04	\$204.78	\$869,194.39	\$516.85	0.00	0.00
TLC CARE CENTER	\$117.22	\$189.02	\$588,343.72	\$517.48	497.48	622.48
TORREY PINES CARE CENTER	\$119.09	\$179.58	\$105,746.14	\$511.19	0.00	0.00
VEGAS VALLEY REHABILITATION HOSPITAL	\$122.38	\$481.70	\$4,311.77	\$510.97	0.00	0.00
WHITE PINE CARE CENTER	\$110.97	\$199.02	\$293,897.08	\$507.75	0.00	0.00

*This column shows what a facility would receive as a daily rate if the supplemental payments were paid as part of the per diem rather than as monthly lump sum payments.

OOS Nursing Facility	Home State	Facility Base Rate	Vent	Ped 1	Ped 2	BEGIN
HACIENDA SKILLED NURSING	Arizona	N/A	\$0.00	\$450.00	\$550.00	1/1/2012
AVALON VALLEY REHABILITATION CENTER	Utah	\$190.33	\$0.00	\$0.00	\$0.00	1/1/2012
COUNTRY VILLA RIVERVIEW (SUSANVILLE)	California	\$190.25	\$0.00	\$0.00	\$0.00	1/1/2012
CEDAR HILL HEALTH CARE CENTER	Massachusett	\$204.18	\$0.00	\$0.00	\$0.00	1/1/2012
HOLYOKE NURSING & CARE CENTER	Massachusett	\$195.14	\$0.00	\$0.00	\$0.00	1/1/2012
OAK CREEK (MTN VIEW CARE CENTER)	Idaho	\$242.83	\$0.00	\$0.00	\$0.00	1/1/2012
SAFE HAVEN (BEACON REHAB)	Idaho	\$229.37	\$0.00	\$0.00	\$0.00	1/1/2012
CHAROLAIS (MINI-CASSIA IN BURLEY)	Idaho	\$203.48	\$0.00	\$0.00	\$0.00	1/1/2012
TWIN FALLS CARE CENTER	Idaho	\$162.37	\$0.00	\$0.00	\$0.00	1/1/2012
HERITAGE HILLS HEALTH CARE CENTER	Utah	\$173.40	\$0.00	\$0.00	\$0.00	1/1/2012
NORTH CANYON CARE CENTER	Utah	\$168.01	\$0.00	\$0.00	\$0.00	1/1/2012
PARAMOUNT HEALTH AND REHAB	Utah	\$171.45	\$0.00	\$0.00	\$0.00	1/1/2012
DESERT VIEW (SNAKE RIVER)	Utah	\$191.69	\$0.00	\$0.00	\$0.00	1/1/2012
PROVO REHAB (ROCK CANYON)	Utah	\$156.65	\$522.00	\$0.00	\$0.00	1/1/2012
MILLCREEK HEALTH CENTER (NMP)	Utah	\$136.93	\$0.00	\$0.00	\$0.00	1/1/2012
MIDTOWN MANOR	Utah	\$163.15	\$0.00	\$0.00	\$0.00	1/1/2012
SUGAR HOUSE CARE & REHAB (INFINIA)	Utah	\$155.83	\$0.00	\$0.00	\$0.00	1/1/2012
KOLOB REGIONAL CARE (CC Nursing Home)	Utah	\$163.06	\$0.00	\$0.00	\$0.00	1/1/2012
ST. GEORGE CARE CENTER (Kindred)	Utah	\$149.48	\$0.00	\$0.00	\$0.00	1/1/2012
TRINITY CARE CENTER LLC	Utah	\$142.27	\$0.00	\$0.00	\$0.00	1/1/2012

Nevada Medicaid Calculation of Total Case Mix and Budget Neutral Adjusted Projected Payments For FY 2012

Provider Name	July - Sep 2011 Actual Medicaid Days	FRV Per Diem	Operating Statewide Price	Facility Specific Direct Health Care Price	Total Case Mix Adjusted Rate		Total Case Mix justed Projected Payments	Budget Adjustment Factor	Facility Medicaid Rate Effective January 1, 2012	Total Case Mix and Budget Neutral Adjusted Projected Payments	Facility Specific Direct Health Care Floor
	а	b	С	d	e = b+c+d		f = e*a	g	h = e*g	i = h*a	j
	1.007	¢04.00	¢ 100.10	\$70 55	¢004.00	¢	040 454 44	0 550750040	¢444.00	¢ 400 507 00	00.05
LIFE CARE CENTER OF PARADISE VALLEY MISSION PINES NURSING & REHAB	1,667 13,775	\$21.20 \$18.78	\$ 109.48 \$ 109.48	\$73.55 \$85.85	\$204.23 \$214.11	ъ \$	340,451.41 2,949,365.25	0.559750042 0.559750042	\$114.32 \$119.85	\$ 190,567.69 \$ 1,650,907.32	62.85 73.36
	· ·	\$18.78 \$22.01	\$ 109.48 \$ 109.48	\$85.85 \$86.50	\$214.11 \$217.99		, ,	0.559750042	\$119.85 \$122.02	. , ,	
SILVER RIDGE HEALTH CARE CENTER HENDERSON HEALTHCARE CENTER	7,152 15,020	\$22.01 \$17.98		\$86.50 \$79.73	\$217.99 \$207.19		1,559,064.48 3,111,993.80	0.559750042		\$ 872,686.41 \$ 1,741,938.66	73.92
COLLEGE PARK REHABILITATION CENTER	2,532	\$17.96	\$ 109.48 \$ 109.48	\$79.73	\$207.19	э \$	570,738.12	0.559750042		\$ 1,741,938.66 \$ 319,470.69	68.14 83.19
HIGHLAND MANOR MESQUITE	3,027	\$18.57	\$ 109.48 \$ 109.48	\$63.49	\$225.41 \$194.57	э \$	588,963.39	0.559750042	\$120.17 \$108.91	\$ 329,672.28	54.26
TLC CARE CENTER	8,194	\$21.60	\$ 109.48 \$ 109.48	\$03.49 \$77.45		э \$	1,715,905.54	0.559750042		\$ 960,478.20	66.19
MANOR HEALTH CARE CENTER (Las Vegas)	11,228	\$22.40	\$ 109.48 \$ 109.48	\$81.60	\$209.41		2,387,971.04	0.559750042		\$ 1,336,666.89	69.73
NORTH LAS VEGAS CARE CENTER	12,252	\$13.64	\$ 109.48 \$ 109.48	\$78.46	\$212.08	э \$	2,469,758.16	0.559750042	\$119.03 \$112.83	\$ 1,382,447.23	67.05
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	6,259	\$13.04	\$ 109.48 \$ 109.48	\$70.40	\$193.07		1,208,425.13	0.559750042		\$ 1,382,447.23 \$ 676,416.02	60.57
SILVER HILLS HEALTH CARE CENTER	4,136	\$21.37	\$ 109.48	\$70.00 \$77.52	\$208.37		861,818.32	0.559750042		\$ 482,402.84	66.24
ST JOSEPH HEALTH CARE CENTER	5,867	\$12.34	\$ 109.48	\$99.75	\$200.57 \$221.57	φ \$	1,299,951.19	0.559750042		\$ 727,647.73	85.24
THE PLAZA REGENCY AT SUN MOUNTAIN	11,180	\$21.85	\$ 109.48	\$95.62	\$226.95		2,537,301.00	0.559750042		\$ 1,420,254.34	81.71
DELMAR GARDENS OF GREEN VALLEY	11,268	\$19.99	\$ 109.48	\$72.21	\$201.68		2,272,530.24	0.559750042	\$112.89	. , ,	61.71
GAYE HAVEN	1,494	\$10.22	\$ 109.48	\$55.84	\$175.54	\$	262,256.76	0.559750042		\$ 146,798.23	47.72
LIFE CARE CENTER OF LAS VEGAS	11,707	\$19.68	\$ 109.48	\$80.84	\$210.00		2,458,470.00	0.559750042		\$ 1,376,128.68	69.08
TORREY PINES CARE CENTER	1,748	\$16.19	\$ 109.48	\$87.08	\$212.75		371,887.00	0.559750042	\$119.09		74.41
DESERT LANE CARE CENTER	9,369	\$13.92	\$ 109.48	\$87.63	\$211.03	\$	1,977,140.07	0.559750042		\$ 1,106,704.24	74.88
EL JEN MEDICAL HOSPITAL	8,030	\$15.16	\$ 109.48	\$73.95	\$198.59		1,594,677.70	0.559750042		\$ 892,620.91	63.19
LAS VEGAS HEALTHCARE & REHAB CENTER	3,529	\$11.81		\$92.61	\$213.90		754,853.10	0.559750042	\$119.73		79.14
VEGAS VALLEY REHABILITATION HOSPITAL	12	\$15.97	\$ 109.48	\$93.19	\$218.64	\$	2,623.68	0.559750042		\$ 1,468.60	79.64
HARMON MEDICAL AND REHABILITATION HOSPITAL	0	\$10.06	\$ 109.48	\$0.00	\$119.54			0.559750042		\$ -	0.00
HIGHLAND MANOR ELKO	5,307	\$22.41	-	\$68.47	\$200.36		1,063,310.52	0.559750042	\$112.15		58.51
EVERGREEN AT PAHRUMP HEALTH & REHAB	3,523	\$22.01	\$ 109.48	\$73.45		\$	722,003.62	0.559750042		\$ 404,141.56	62.77
EVERGREEN at CARSON CITY (fka Ormsby)	3,849	\$22.01	\$ 109.48	\$77.17	\$208.66		803,132.34	0.559750042		\$ 449,553.36	65.95
EVERGREEN MOUNTAINVIEW CARSON CITY	12,214	\$14.76	\$ 109.48	\$67.40	\$191.64		2,340,690.96	0.559750042		\$ 1,310,201.86	57.60
CARSON NURSING AND REHABILITATION CENTER	2,399	\$11.11	\$ 109.48	\$81.93	\$202.52		485,845.48	0.559750042		\$ 271,952.03	70.01
HEARTHSTONE OF NORTHERN NEVADA	6,195	\$17.42	\$ 109.48	\$83.26	\$210.16		1,301,941.20	0.559750042	\$117.64	\$ 728,761.64	71.15
LIFE CARE CENTER OF RENO	3,946	\$19.13	\$ 109.48	\$86.54	\$215.15		848,981.90	0.559750042	\$120.43	\$ 475,217.65	73.96
REGENT CARE CENTER OF RENO	8,310	\$23.92	\$ 109.48	\$78.79	\$212.19		1,763,298.90	0.559750042	\$118.77	\$ 987,006.63	67.33
LKM - ROSEWOOD REHABILITATION	2,305	\$11.94	\$ 109.48	\$89.88	\$211.30	\$	487,046.50	0.559750042	\$118.28	\$ 272,624.30	76.81
RENOWN SKILLED NURSING	6,830	\$13.15	\$ 109.48	\$80.43	\$203.06	\$	1,386,899.80	0.559750042	\$113.66	\$ 776,317.22	68.73
MANOR CARE HEALTH SERVICES (Reno)	7,088	\$18.38	\$ 109.48	\$79.97	\$207.83	\$	1,473,099.04	0.559750042	\$116.33	\$ 824,567.25	68.34
WHITE PINE CARE CENTER	3,338	\$12.75	\$ 109.48	\$76.02	\$198.25	\$	661,758.50	0.559750042	\$110.97	\$ 370,419.35	64.96
EVERGREEN GARDNERVILLE HEALTH AND REHAB	1,957	\$25.15	\$ 109.48	\$72.37	\$207.00	\$	405,099.00	0.559750042	\$115.87	\$ 226,754.18	61.84
HIGHLAND MANOR OF FALLON	4,773	\$24.02	\$ 109.48	\$82.28	\$215.78	\$	1,029,917.94	0.559750042	\$120.78	\$ 576,496.61	70.31
THE HEIGHTS OF SUMMERLIN	8,888	\$24.02	\$ 109.48	\$77.27	\$210.77	\$	1,873,323.76	0.559750042	\$117.98	\$ 1,048,593.05	66.03
CARE MERIDIAN	0	\$24.02	\$ 109.48	\$104.81	\$238.31	\$	-	0.559750042	\$133.39	\$-	89.56
MANOR CARE HEALTH SERVICES - WINGFIELD HILLS	2,937	\$26.03	\$ 109.48	\$87.16	\$222.67	\$	653,981.79	0.559750042	\$124.64	\$ 366,066.33	74.48
MARQUIS CARE AT CENTENNIAL HILLS	2,969	\$26.43	\$ 109.48	\$81.82	\$217.73	\$	646,440.37	0.559750042	\$121.87	\$ 361,845.02	69.91
Las Ventanas	-		-	-							
Total	236,274					\$	49,242,917			\$ 27,563,725	
Medicaid Day Weighted Rate	200,214					\$	208.41			\$ 116.66	
SFY 2012 Budget Neutral Medicaid Rate Including Provide	r Tay Pool					\$	116.66			- 110.00	
	Tax FUUI					φ					
Budget Adjustment Factor							0.559750042				

Las Ventanas does not take Medicaid patients per HCFP. Therefore no projected days were provided to M&S.

Provider	Total Res	sidents	Medicaid R	esidents	Medicare R	esidents	Other Residents	
Name	Count	СМІ	Count	СМІ	Count	СМІ	Count	СМІ
Life Care Center of Paradise Valley	85	1.3366	17	1.0000	48	1.4863	20	1.2635
Mission Pines Care Center	149	1.1704	147	1.1673	2	1.4000	0	0.0000
Silver Ridge Healthcare Center	119	1.2773	66	1.1761	24	1.5171	29	1.3093
Henderson Healthcare Center	200	1.1659	157	1.0841	16	1.5294	27	1.4263
College Park Rehabilitation Center	85	1.4391	35	1.3237	49	1.5080	1	2.1000
Highland Manor - Mesquite	49	0.9839	27	0.8633	5	1.4680	17	1.0329
TLC Care Center	148	1.1563	96	1.0531	30	1.4813	22	1.1632
Manor Health Care Center	176	1.1551	144	1.1095	10	1.4980	22	1.2973
North Las Vegas Care Center	142	1.0925	127	1.0668	7	1.3386	8	1.2850
Mountain View Care Center at BC	75	1.0019	63	0.9637	3	1.3967	9	1.1378
Silver Hills Healthcare Center	101	1.2594	47	1.0540	39	1.4897	15	1.3040
St Josephs	91	1.3975	65	1.3563	13	1.6985	13	1.3023
The Plaza Regency at Sun Mountain	161	1.3665	117	1.3001	17	1.5806	27	1.5196
Delmar Gardens of Green Valley, Inc.	171	1.0394	136	0.9818	24	1.3800	11	1.0082
Gaye Haven ICF	13	0.7669	12	0.7592	0	0.0000	1	0.8600
Life Care Center of Las Vegas	188	1.1314	75	1.0992	72	1.1456	41	1.1656
Torrey Pines Care Center	43	1.3488	20	1.1840	11	1.5255	12	1.4617
Desert Lane Care Center	124	1.2229	108	1.1914	11	1.5400	5	1.2060
El Jen Medical Hospital	131	1.0496	97	1.0054	10	1.3310	24	1.1112
Las Vegas Healthcare and Rehabilitation Center	55	1.2607	37	1.2592	12	1.1925	6	1.4067
Vegas Valley Rehabilitation Hospital	103	1.4976	7	1.2671	14	1.7214	82	1.4790
Harmon Medical And Rehabilitation Hospital	2	1.4950	0	0.0000	1	1.2700	1	1.7200
Highland Manor of Elko	100	1.0084	60	0.9310	13	1.3131	27	1.0337
Evergreen @ Pahrump Health & Rehabilitation Center	47	1.0704	31	0.9987	4	1.3325	12	1.1683
Evergreen of Carson City	74	1.1274	44	1.0493	21	1.3614	9	0.9633
Evergreen Mountainview Carson City	138	0.9143	120	0.9164	8	0.9225	10	0.8820
Carson Convalescent Center	41	1.2185	25	1.1140	8	1.5638	8	1.2000
Hearthstone of Northern Nevada	132	1.2818	76	1.1321	31	1.4871	25	1.4824
Life Care Center of Reno	106	1.2944	27	1.1767	62	1.3756	17	1.1853
Regent Care Center of Reno	140	1.1568	82	1.0713	20	1.4100	38	1.2079
LKM - Rosewood Rehabilitation	56	1.2279	48	1.2221	7	1.2986	1	1.0100
Renown Skilled Nursing	96	1.1429	69	1.0936	9	1.3589	18	1.2239
Manor Care Health Services of Reno	113	1.1731	78	1.0873	18	1.6011	10	1.1135
White Pine Care Center	41	1.0546	33	1.0336	3	0.8667	5	1.3060
Evergreen Gardnerville Health and Rehab	34	1.0340	55 10	0.9840	20	1.0475	3 4	1.0800
Highland Manor of Fallon	75	1.1600	54	1.1187	8	1.6450	13	1.0331
The Heights of Summerlin	131	1.1416	54 79	1.0506	27	1.3678	25	1.1848
Caremeridian	26	1.1410	79 16	1.4250	0	0.0000	23 10	1.1040

Manor Care Health Services - Wingfield Hills	71	1.2665	42	1.1850	17	1.3447	12	1.4408
Marquis Care at Centennial Hills	61	1.2107	42	1.1124	10	1.5410	9	1.3022